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- @0 @S- FeSO, + H,0, 97 firpe

— @M EIT- Cu(OH), + NaOH + NaK BREIES a4 |

S -

99, Wluch one of the I'ulluwmg is the corre

A. excesive

B. axcessive
C. excessive
D. ctcccbsivc

Solye ﬂﬁﬁ@@m ‘C’ | 4R excessive: ‘Tﬁﬁ‘#‘ﬂ%ﬁl@?ﬂ’[ﬁ[ﬁl

O ————— e —— T

B. GIAHIeS #iwief

C. TS ownd

D.BaRRC

®1:

78 9

AR

98. WWWWr '

100, (FTIRY '8 TATHToTT FTa0eia Jaet G-
A, *IIRCeTES 2w

ﬁﬂﬁﬁlﬂ Cil'ﬁa‘ﬁfﬁﬁ
W A0

iy [ i,

T A g iy Wil | m——

ct spelling?

Wﬁ@?ﬁwm@

MBBS & BDS ADMISSION TEST 2012-2013

01, STy SRR, G0 RIGT S0 919 41 a4 Q00 AAr

Solve, =ifbar (pt) wfewre cif g zeuits aff 77we WU @

@Eii;gwﬂ*m 'C* e T IR (TN R P qed Sdis

03.

i e = L
o a .

\ gt g

AGANT O 9 O,

Wmﬁmmﬁwmmmmw%wm

©qd Q, 9 Fe +Ni1 {39 vl

Fe +Ni1
GEASERE L]

ANSWER : MBBS & BDS ADMISSION TEST : 2013-2014

S om ek EE B e e

LB

2C

3.C

4.A

5.A

6.C

7.B

§.C

9.B

10.C

11.C

12.C

13.A

14.C

15.C

16.C

17.8B

18.A

19.D

20.B

21B

22.D

23.C

24.C

25.A

26.D

27.C

28.C

29.A

30.D

31.C

32.B

33.C

34.B

35.C

36.A

37.C

38A

39.B

40.A

41A

42.B

43.C

44.B

45.A

46.B

47.C

48.C

49.C

50.C

S1LA

32.B

53.C

54.A

55.C

56.8C

57.D

58.D

59.D

60.B

61.A

62.A

63.A

64.D .

65.A

66.B

67.A

68.A

69.A

70.D

718

72.B

73.D

74.D

75.D

76.C

77.D

78.B

79.D

80.C

81D

82.D

83.B

84.C

85.D

86.C

87.B

88.D

89.C

90.D

91.C

92.C

93.B

94.D

05.A

96.A

97.B

98.A

99.C

100. A

| SN

| Solvey wopiw ‘B’ f6F 71 TR Weak &d 7 T il

[06. = AR Z0S T RF TR AT XA Naw v

_ul_._—-i-i-l'

- ——— e — R e

A foeT
C. %

B, oA
D. %l

GieeTa e Rt e 1) ©fR srrerwts FpE Afvass A
ﬁ&mwwmn

e . i -

3 Fdrad | crEnfiere SeifEfSe wr wraa avta akiere
7 | wdfis aft TretEa Ad wfds Ty

i S — = — . - - B OE o m rm— S

E?_E-Eﬁﬁwﬁfcﬂfl’raﬂr O

' T et A et

@%‘mmﬁlﬁﬁﬁmﬂmﬁﬁﬁ%ﬁﬁ‘ﬁm

L iy i i e e S e Sy S . & s i ey (P ., T —

05. Which one of the following pa]rs is not correct?

Adjective Verb
A. False Falsify
B. Weak Weakly
C. Sure Ensure
D. Able Enable

Adjective &8 Weak @9 verb TR weaken TR &g 77 1 |

1 e P S S o ——

A, e
B. 2%
C. Rem
D. S¥feires
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a6 Gife FeaTta zn | «fd Siee @IRg 3@ O |
& CO, 97 ToiTEfore 0 [Satea S 5ers 9o0e Iq |
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I =ForFewEt ‘ P T
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13. SR BISIE e 7rez- S

A.KMnO; B.NaOH C.K,Cr,0; D.Na,S;0s
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16.. The synonym for “Ascent”is- - 77
A. Jow down B. Further T
C. Jump D. Regress
'ﬁly Ascent *%iod < SR 91 SOl ©Ot | € Jump o
ﬁTfF G747 | Mﬂﬁ? i‘m‘«: C
A 14 B 36{]
C.7 D. 28
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ARTEY R R T[4 |
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— Tfema F6 et REFiresey |
~ - ST GHRATFTDT @ JHFH |
— ST AR SR |
-  AHTIS TS AFa ooy AT |
— . AAfe R 50T |-
- I 7, IR, Wﬁﬁﬂ‘?ﬁ*ﬁﬂﬂﬁiﬁﬁmﬁl
- AACEY T € TH(FS |
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* IO Rreeid Clomm st s
efen " @A I
et Hibiscus rosa- sinensis
AT i . Abelmoschus esculentus
AT B Gossypium herbaceum
- TG Hibiscus cannabinus
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=T Hibiscus mutabilis
*  TFAIA CETR (1 Poaceae (SJ§1T Gramineae) ¢ GfEm
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— AR RSEG |
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Tq/q1fef Hordeum vulgare
- el Phragmites karka
&N Cynodon dactylon
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C. PbO; D. CaO

'Solve, frea il SiteT T NG F43:
i. SoyiT oE@3e: Zn0, Al,Os, PbO, SnO 2S5 |
ii. s ® S=ige: H,0, CO, N,0, NO Esjif |
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iv. #ifef S\WRS: MnO,, PbO, |
v. TR SHRE: KO, |

vi. 1 SHIRC: Pb,O |
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2H,0 (/)
iii. NaNOj (s) + 2HNO; (conc) — NaNO; (qq) + H.O (/) +
NO, (g)
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43 “Which one of the following is the correct passive
| form of the sentence “I can recite the poem™?

A. Recitation of the poem 1s pusmhle by me
B. The poem could be recited by me

C. The poem can be recited by me

D. Recitation of the poem can be performed by me

| S SR————

'Suh’ﬂ Modal Auxiliary verb ¥ Passive F9€ AT 54 8wa
T object & subject YN Modal Auxiliary verb @9 *iQ
be @32 T verb-4¥ p.p. form TACHR TW | T: | can do the

work (active)
= The work can be done by me (passive)
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48, Which one  of the fullnﬁmg is correct indirect g speeﬂl

. of the sentence “He said, do you know me”?
A: He asked me, whether I knew him.
B. He asked me that whether I knew him.

C. He told me that if [ knew him.
D. He asked me that if I. know him.

—ram

-__-"‘.-.“_"

'Solve, Interrogative sentence ¢F Direct (W& Indirect 9w

fimr:Sub + ask/enquire of + object + if/whether (Auxiliary
verb AT reported speech ST#¥ %) + reported speech &3
subject + verb + a4 W | (@F: Mohammad said to me,

“Do you like me.” (Direct)’
= Mohammad asked me if I liked him (Indirect)

wje AfTE TEa TE- ‘A |

49, T @ RaR z7em @G
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A. Cold feel B. Cold war
C. Cold water D. Cold shoulder
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. Correct adjective of the word “Conte/npt” is- 3
A. Contempting ‘B. Contemptible
C. Contemptable D. Contemptation
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“Which one of the fullﬂwlng is the correct. negafive
form of the sentence “Eve:y mnther loves her. Ehllﬂ”

A, Ever}f mother does not like her chjld
B. There is no mother who does not love her child.

C. Every mother hates her child.
D. There is no mother but loves her child.

r*l__j Every & Affirmative sentence (¥ Negative F9Iq fer:
* Every @9 @& There is no + noun + but + I W

@T9: Everyone hates a liar (affirmative)
= There is no one but hates a liar (Negative)
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-;g Which une uf‘ ﬂlE l'nlluwmg is the correct affi rmntwe;

fﬂrm of the sentence “You: can not but do it”? JJ
A. You can do it -

C. You shall do it
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B. You s should do it
D. You must do ||',

FSolve “OTST (RBAT et @ Can not but A affirmative

FNT Y Can not but @q Affers must I ‘EI‘I?«*F:T must

A+ Negative T8 T must G “ifREE
Can nnt but
cied wfra.ﬁﬁﬁf@m D. )

PPIROl TN PG o SR e A )
A, ﬁ{ﬁ?ﬂw aeF = %fﬁ'f%l : )
B. FEfegi+e o = %%!%1

D. FEFAF SNTTT 9FF Nm2 |

m Yo ‘B Hﬁvﬂ | G ﬁﬁmﬂw QI i W

e MnC}; Pess ___g E'.:“Ei""'“ Ty
C. II D. H.0O, '
WMWﬁWWWﬁWIWWWWI
GRS #ivre
] ~ i}
ger | e | wPE | e | @ R
) \ N 1l
qerE K; 0,,0;3| H,SOy, [ KNO, IS,
~ |[Fe(CN)g]| = | HNO; |  2eemam
AN | AT | 969 | Fa9 | FEO[{ 9T A
4 J { y . R
ATHRE| PbO, |MnO; | KMnO, [FIORH HIR| SH4RTS AT
|(H,0,) (Na* K" |(HCIO;,KCIO,)

%@“-'Uctr wwwwﬁwwﬁwm |

P"'"“"--r--.l—m e T e e e L, A e E.-r Lo
3t T g gt :'_.;'._._,..i ..... TR
] = L :
-‘:-F ] ik [t T .-' ¥ 1 =i --.F-'J:-I.. e A i il
—---n_.._...n....-..'p_.._.-.... y simea . =

A. mﬁﬁﬂﬁ Lﬂﬁfﬁs‘?nﬁmﬁl

B. ﬁmwﬂm@-ﬁ@%ﬁﬁmwﬁﬂmﬁ@w|
C. fera e St TR B! STe TRy i |
D. e & 25 G 7

Solye; womi C wise =w; Frsa wal oy &=
T g TS et R
A, SEes — RSl |a. Saert — fiR
|b. e — et b, SR ¥R AN — TSl
C. *rfoet — g C. *PBITeT G2 A — OF
d. *roite — S
"’”'"'”“"ﬁﬁ"‘"“"""“‘?“‘i ity G S PUCe i |

D. ¥

Fﬂmwm—wwwm THe wired A
RIS TS TN WIS | (IS AN, i, N Ton |

L
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A. Rural R
B. Shave
C. Sophisticated
D. Uncouth
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A. T heard him saying this

B. I heard him to say this
C. I heard him said this

D. I heard him to have said this
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A. 1 saw him and told cver yllung

13, You should not pride of your health
C. I shall avail myself of the morning bus
D, He took part in the feast and enjoyed
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88. The correct translation of “St7 A Al wife” §y.

A. I feel nausea
B. [ am about to vomit
C. I fancy I will vomit
-D. 1 feel vomiting
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91' The incorrect sentenue is- - : {.

A. He prevailed over the enemy.
B. I was in want of food.
C. He has a zeal for public work.
_D. The boy is sick for toys.
olyg; wope A ‘-‘[ﬁ:‘-ﬁ 7 | FEAY prevail over A1 A prevail
against LT |

T e e 1 — I i _r_______,. e i B e e T G AR |
9. T NE D e . .

=] - ; i

e T ET W

S gl - m

A. ISRE FAUTE W= 0 |

B. $a0eR W@y sislead [LT ']

C. T 57 Ui ~Afa3sa = |

D. ufeade gact @3 oo TF
me,wmwﬁwm- [LT‘I] AR
Sz wad a3fo TIT TAT |

o P o EEpes . T

IS0lvey woptr < 3% | ST SOPIT ST I T | I A

339

A 241K
C.220K

e i+ Mt i M

B. 2.17 K
D.6.07K

G-LQ%HWZITKETWWSUperﬂmdtﬂWEI
100, W G SR RSt | Greis) FeR
rﬂﬂl‘ﬂﬁﬂl‘lﬁi“iﬂ?

A. mwmﬁﬁmmn

B. mmﬁﬂmmmaaﬁﬁrﬁﬁ
C. 94T (e 4 |
D. 221 fafer amat wiigw |

Salye, wopr ¢ 5 7111 ot s .

Wﬁﬁ%mwﬁfﬁﬂmﬁmmm|
TS frefaet R |

-ﬁrﬂﬁ'&mﬂﬁﬁﬂﬁﬁﬁﬁmﬁﬁﬁ?ﬁﬂtﬁm|
R0 coifes1 7= DNA fwmm |
TS OFIEF @A A |

I— -

= T imve e ik B

e T

R

ANSWER : MBBS & BDS ADMISSION TEST : 201 2-2013

I.B 12.C [3D |4D [5B |[6.A [7.C [8C oD

1.C |12.pmk(13.C [14.B [15.C [16.C [17.D N8B [19D
"(21.C [22.A [23.A |24.D [25.B |26.D [27.D |28.D [29.Bum
31.C |32.A |33.C |34.D |35.D [36.D |37.B [38.C [39.D
41.D |42.C |43.C [44.B |45.C |46.C [47.C [48.A [40.A
|31.C |52.D (53.B |54.B |55.B |56.D [57.A |58.8p|59.B
61.B [62.D [63.A |64.C [65.A |66.D [67.B [68.A 69.A
71.B |72.B |73.C |74.D [75.D |76.B |77.C |78.B |79.A
Blbuk|82.B |83.D [84.A |85.D [86.C [87.C |88.A |89.D

91.C |92.B |93.C |94.D |95.C |96.B |97.A [98.C [00. B

10.A
20.C
30.B
40.C
50.A
60.D
70.D
80.B
90.A

100.C

“T @, ﬁﬁﬂﬂawﬁrwwm
wwer&w T G > 0! AT Taw
A2, (Ol A 0T WA GF Sy




